T)—N14N—=0 T X% T RFTa—)L

6/24(7K) 6/25(K) 6/26(%) 6/27(x) 6/28(H)

6:00 kS ABRYT kS ABYT kS AT kS S kS ARYT 6:00
6:30 6:30
200 KRRV TRIA - B - Jb A - B - B 7:00
730 R KT HE RTIL hy KT R AT 730
8:00 FTVITIN 8:00
8:30 HR e 8:30
9:00 %5y %E) %E No—=2% AR—=YF v TH | 900
9:30 CIN=L7) 030
10:00 No—=2% AR—=YF v TH N—=27 AR—=YF v THt N—=27 AR=VEv TR | [MTIUUR] 10:00
10:30 (MTZIR] (MTZoR] (MTZIR] BE) 10:30
11:00 AAB 11:00
a0 | REVIHEE % Ef e 2 ) % & I 7[RI 11:30
12:00 AB P N BRE RTIL 12:00
12:30 AEYIRE RTIL BE RTIL BE RTIL BE RTIL oA—ovy 12:30
13:00 NAFE 13:00
13:30 INAHFE 13:30
14:00 %5 % E) 14:00
14:30 EFES 14:30
1500 | ATAHNTFTYY INA 16:00
15:30 e %) AR—YF v Tt BEHA AR—YE v TH 77?5%{;%[;\5/—\ BwERE AR—Y ¥ Tt 15:30
16:00 fN—=2% EREEmEESR(FE) (FEF(FE)] EH SR 16:00
1630 (MTZ2R] 15:00 KO 15:00 KO 16:30
17:00 409 X 3K FE 409 X 3R FE 17.00
1730 (MTZIUR] (MTSoUR] 17:30
18:00 % & A& 18:00
1830 N %5y %5 18:30
19:00 T I AR YR KTV AA 19:00
19:30 SR 19:30
20:00 = RTIL S—T47 B RTIL 20-00
g0 | EFS—TAY 20:30
21-00 S—T407 S—TAVY 21:00
o130 | RARVIS—TAVT 21:30
22:00 22:00




